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MULTIPLE CHOICE

1. Suppose you graph the linear incquality 2x + y < 4. Which sec of statements
describes the graph of the linear inequality?

A. "The boundary line is 2 solid line. The plane is shaded above the line.
B. The boundary line isa dashed line. The plane is shaded above the line.
(€)The boundary line is dashed line. The plane i shaded below the line.
D. The boundary line is  solid line. The plane is shaded below the line
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2. Which linear inequality is shown in the graph? ;‘ 3
A |y-*»=-2,xEWIEW} C{xp)|y-*x=-2,xERyER}
@i ]y-+>-2xEWyEW}]  D.iwp)|y—x>-2xELyen

3. Which is a solution to the sysem of linear inequalities?
{)|2x+y>5xELyED
sy =x<4r€LyE

®o6n B. (45,0) C (-21) D. (-3, -1)
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4. Consider this system:
sy |3y +x=3,xERYER}
{y)|r—y<4xERyER
The boundaries for the two inequalities intersect at the point (3.75, —0.25).
“Which statement about this point is most accurate?

A. The point is not in the solution set, because its coordinates are not whole
numbers.

B. The point is in the solution set, because it lies on both boundaries.

(C)The poin is not in the solution set, because one of the inequality signs
is<or>.

D. The point is in the solution set, because one of the inequality signs is = or =.
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5. A sports equip f produces snowboards and skis. It takes 4 h

o cut and mould each board and 1 h to put on the finishes. It takes 4 h to cut
and mould and 2 h 1o put on the finishes for a pair of skis. The total number
of snowboards and pairs of skis produced per day is ac most 15.

Let 4 represent the number of snowboards and 4 represent the number of
pairs of skis made in one day or less. What are the restrictions on 2 and 4
A. no restrictions B. 2EN,LEN Cs€LbEL ®ewiew

6. Which algebraic model represents the situation in question 52
A, b)]e=0,b=0,a+5=15aER LER}
{@8)|e=0,b=0,5+66=<24,a ER, 6 ER}
B. {(4,5)|2=0,6=0,a+b=15a€EL5E]}
{@h)|a=0,6=05+6b=<24,a€E1,bET}
@O na=0.0=0.4+ =154 W sEW)
{a.6)]a=0,6=0,5 + 6b=24,a €W, bE W}
D.{@b)|a=0,6=0,a+b=4aEN,EN}
{(a,6) |a=0,6=0,52+ 66 =24,a €N, b €N}

5. Consider this ysten of inear Inequalicie:
yrae=9
y<zm-3
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Point of ntenceron: {2 4,1 €
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9. Graph cach system. Determine a solution fot cach.
4) {72055 xER,yER]
()| +y<7,xERyER

E‘,_Cwu% ons of the boundaries?
=y =0.5% > Ayy="
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- =08 (ERIErEHY)
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10. The graph of a system of linear inequalities is shown, where the objective
function is P = 1.5x + dy.

a) Determine the vertices of the feasible region.
(05,2.5) , (He1) , (H36)
) Wha s the minimum solution for the system? (4] ,=])

©) If Prepresents the amount of profit, in thousands of dollars,
what is the minimum profit that can be made?  $_2, OO Oy

d) What is the maximum solution for the system? 4,6

©) If Preprescnts the amount of profit, in thousands of dollars, what is the
maximum profit that can be made? $.¢

* For (0.5,25): g=\.5(c.s)+4(zs)

=015+ 10
P= 1013
For (4,-1) s P= .84 )+4(~l,
P= & -
=2

For (4h,¢) 2 P=1.8(4)+4(e)
je)

13. Jenna and Rhiana sell tacos and burritos from a food cart.
* No more than 50 tacos and 75 burritos can be made each day.
* Jenna and Rhiana can make no more than125 items, in toral, each day.
* Tecosts $0.75 to make a taco and $1.25 to make a burrito.

Create an optimization model and use it to determine the maximum and
minimum costs to produce the food items.

E\;‘r + represen‘\: +the number of tacos that
c¢an be made in ada

let b represent the \"\umbcr of burritos
That can be made in aday-

let C represent the cost of making the
Cxocds.

Restrictions s LEW, DEW
Geosteaints: £20, b=c, ££50, be15, t+b=Ias,

Okjective Function: C=015+% +1.25b
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C=015t+1.25b
C= 0.715(0) +1.23(0)
C=

C=0.13(0) +1.25(15)
C= o0+4a31s
C= 89315
For /50)’]?})\3 C: O3 +L+ 1. I3b
C=0.73C ‘<o\+ D 3(T73)
C=3130+93.75
C=¥13125
For (50,002 C=0.13t+1.23b
C=041 S/SOL' 93(0)
C= 3150+ 0
C=431.50
Miaimum Cos‘f = 90 ( 0 4aces

Maximum Cost=>¥ 13125 (Sotaces
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